PYQs Class Notes

\ PART-3 4

( Parmar Sir)

Click on the icon.


https://t.me/parmar_ssc
https://youtube.com/@parmarssc9894

~®\Which of the following statement is correct about natural resources? -
waEl & ar A Prfafa & ¥ Fla @ Fuw 7@ {2

I.  Resources that are drawn from Nature and used without much modification
are called natural resources.

Il. Natural resources can be broadly categorized into renewable and non-
renewable resources.

A ¥ g Y wE i F wred B o € 3k fae st et & s R
ST §, Wi fere HaTte Fgerd 81

B. Wihfas FETHEl F AR dR W adewoiy i d-adeoir sawet &

Fettaper fova o e §1
Which of the statements above is/are correct? // 3URFa & & FleT T/ FUT T §/87
Bothland Il 2.0nly 1l
3. Onlyl 4. Neither I nor Il

- Non-renewable resources : Coal, uranium, oil
( ‘Renewable resources: Solar energy, wind energy

Cannot be renewed

2.

Tansen, who was included in the Navaratnas of Akbar, was an expert in
laying which of the following musical instruments?

AR, Y HFa F AGTeAl A MRS &, AR & ¥ frw weia
AEIET F aoe A v A

\Azabab

2. Veena
3. Sarangi
4. Nagada

-Expert in playing Rudra Veena

* Original name: Ramtanu ‘Pandey

+Belonged to: Gwalior Gharana —> mysician in court of Raja Vikramjeet
« Famously known for composing Dhrupad

- Akbar gave him ‘Miya” title

" Tansen Mahotsav: Madhya Pradesh in the month of December

] v
25 Dec: Tabla Day

CM at present: Mohan Yadav
Was single membered
body but changed in

™ Which of the following statements about the Chief Election Commission are g 1989

correct? b ECI 'Pal'f XV
Article: 324-329 aj
Art 324: Tstd of T

1. The Election Commission celebrated its Golden Jubilee in 2001.
25 Jan 1950: National Voters Day

Single membered body

2. It currently consists of Chief Election Commissioner and two Election
Commissioners.
8. For the first time two additional Commissi were appointed in 1993.
4. The President appoints Chief Election Commissioner and Election
Commissioners and have tenure of six years or up to the age of 65 years,
whichever is earlier.

Which of the statements above is/are correct?

el Esfd 1 (Chief Ttlection
Commissioner) + 2
Cother Commissioners)

1. Only2and3 .Only1,2and 4
3. Onlyland2 4.0nly1,3and 4

-Removal process same as
SC/HC judge removal



At present
- Chief tlection Commissioner: Rajiv Kumar

-2 other Commissioners: Anup Chandra ‘Pandey and Arun Goyel

-1st CEC: Sukumar Sen
.ECl conducts elections of: Parliament + State Legislature + President + Vice President

"~ Jarawa tribes can be found majorly in which part of India? s
ST SersTIerat e 3 f $1T o weErar @ ur St 2

. Kerala 3
. Madhya Pradesh 3. AET 9a_
. Uttar Pradesh 4. 3aR 9g¥l

/' Andaman & Nicobar islands 1. 3i5ATe 3R @R @i wog
2. A

- Other tribes: Onges, Sentinelese, Great Andamanese, Shompen
tribe

Narcondam: Dormant
volcano

Barren: Active volcano

o
Cr gl)/
Andaman D

Islands A

____—>Main Islands of Andaman

sor

,,,,,,,,,

Andaman

Sea

> Separates Andaman from
e Nicobar group of Islands

*  Nicobar
Islands

-10"Channel also separates: Little Andaman from Car Nicobar
*Duncan Passage separates: South Andaman from Little Andaman
-Ritchie’s Archipelago: cluster of smaller islands in Andaman

- Baratang National Park: Andaman



Whose law states that total energy per unit mass of flowing fluid, at any point
@ in the subsurface, is the sum of the kinetic, potential, and fluid-pressure

energy and is equal to a constant value?

Rrwra foraer Fgan ¢ B suwae & Rt off fig oX apar aver ward & wfer

HTE GATA 1 Fe Foi, et Ryl 3R ga-gara AT AT AT

Uz A & A 87

1. Marie Poiseuille
2 Evangelista Torricelli
. Daniel Bernoulli

4. Blaise Pascal

Mass .
(’ Relation between K. and Momentum
m x

- Kinetic Energy = 1m x V*
e 1o Energ =~ \— Velocity 2 of 5
2 KE=1mV? =(mV)*=p2 = KE
2m 2m 2m
The energy an object has
because of its motion p% = KE
2m
KE=1mv* Q2p" KE =4 p>
2 2m m
The energy stored in “PT converted to KT
/y an object due to its 7 - becomes less and KE keeps
ition ' increasing —s Velocity max
‘Potential Energy g }.E
tg: Gravitational PE nergy = mgh
>Concept of dams based on this —> Weight = Force = mg
l Work done = Energy =F . S
Ex: energy of a stretched bow,
energy generated from Dams mgh

KT + PE > Mechanical Energy

‘Dynamo: Mechanical energy —>Tlectrical energy
Generator: Mechanical energy—>tlectrical energy
Motor: Electrical energy—> Mechanical energy
Microphone: Sound energy—= tlectrical Tnergy
Loudspeaker: Electrical energy—>Sound energy



oLy, Pressure + KE + PE

Flow

Pascal’s Law 45 Scsnaafocks

Pressure (P) applied in one part of an incompressible fluid is
transmitted undiminished in all directions

‘p

H H -S.| unit of Pressure: Pascal

Archimedes Principle

The buoyant force is equal to the weight

/ .
/37 of the displaced water

» perpendicularly Area

& Gravity -S.[ unit: Newton

—
’ 4 Thrust—=When force is applied |Pressure = Thrust
\

J




~
Which of the following is correct financial year of India?

fPfRTdd s aaRa sTad R ad

{
*

1. 1 March to 28/29 February
2. 1June to 31 May

1 April to 31 March
4. 1May to 30 April

-1 Feb: Interim Budget

Hindu Calendar Year starts
from 1st April

- Manipur: Thang ta, Lai Haraoba,
Jamda folk dance is associated with which Indian state? 'Pung Cholom
@ TG W e e SR T & FoafereT €7
1. maharashtra =3~ K0li, Powada, Le2im, Lavani, Gafa, Mauni, Tamasha

2,Assam
\{Jharkhand
4. Manipur

/ 'BTU
‘Bohag Bihu Magh Bihu Kati ‘Bihu
(Aprild Wan) (October)

" W
Which of the following pairs i atched?
ﬁmﬁmﬁmm . .
1. Bryophyta — Moss , Marchanﬁa, gGGdS : 1969 Whlffdk&l'-» 5 K"‘dgom

2. Gymnosperms — Pinus

3. Angiosperms — Rose C'aSSlflca‘flon
\/ Pteridophyta — Cycas

Baithakichi
performance

Chhau, Paika, Domkach, Mundari

Lo

Simple Permanent Tissues l Sty ol i
- Xylem: transports water <

and minerals (one-way)
*Phloem: transports food  voxnoce

With vascular
tissue

(fWO-Way) l’wri(rphym l
Cryptograms->Have hidden o '1' secas
reproductive systems Gymngsperms i
ex: Terns, horsetail Deodar, Pines | 1
Amphibians of Plant "1 i
Kingdom

Dicots Monocots

ARMA
S



The capital of Vajji/Mahajanapada was
B afos AgToTeTg Y Tereredt

%Iaishali

2. Koshala
3. Pataliputra
4. Champa

M_ahéjanapadas and
janapadas (c. 500 BCE) _ Mentioned in ‘Buddhist

S
text: Digha Nikaya

TRiGARTA

C o @0 vauoneva 5
/ KURU Hastinap
Indraprasthad

)
Sy Roruka iratanagara M: ra
7/ / ‘»‘:t:;& : MATSYA iy
T2 2L spatala? $ambi ‘,('éisvl-" MA%ADN:zu.. ¥
4 VAN PRt o{$uklirv;;ﬁ? Rajagrha ma‘\z’— “buno
= L o
; ‘SAIJl-(ﬂ'";;: : snati PULINDA 5""@!»@/\'\q
*:;!Inmkaaha VIDARBHA ek
{2 % moLaxa uen $avara @
BN e
\ /Lafer ‘Pataliputra
SI. No. | Mahajanapadas | Capital / Modern location
1 Anga Champa / Munger and Bhagalpur
Mosf powerfu' &2 Magadh Girivraja / Rajagir Gaya and Patna
3 Kasi Kasi Banaras
4 Vatsa Kausambi Allahabad
'Dynasfles Wh[(}h ruled in 5 Kosala Sravasti Eastern Uttar Pradesh
6 Saurasena Mathura Mathura
—Q—Ma adha Ahichchatra and
7 Panchala Kax; ::l Z e Western Uttar Pradesh
-Harganka pily
8 Kuru Indraprastha Merrut and S.E. Haryana
* S|3hunaga 9 Matsya Viratnagar Jaipur
. Nanda 10 Chedi Sothivati / Banda Bundelkhanda
11 Avanti Ujjain / Mahismati Madhya Pradesh & Malwa
*Maurya , =
12 Gandhar Taxila Rawalpindi
13 Kamboj Pooncha Rajori & Hajra (Kashmir)
14 Asmaka Pratisthan / Paithan Bank of Godavari
15 Vajji Vaishali Vaishali
16 Malla Kusinara Deoria & U.P.




\ ™ Match list | with lst Il ) F gRfaa X
sTI usTi
A) The Calcutta Madrassa
) The Asiatic Society of Bengal
C) The Sanskrit College at Bangras

1. Warren Hastings
2. William Jones
3. Jonathan Duncan

Which of the following option is correct? //\@#faifR

A-3,B-1,C2
\Z A-1,B-2,C-3
3. A2,B3,C1
4. A-2,B-1,C3

1784 .
this time

* Hindu College

*

1791 — Cornwallis was Governor General of India during

Calcutta: by Raja Ram Mohan Roy with David Hare (1817)

‘Banaras: by Madam Mohan Malviya, Annie Besant

- Fort William: 1800; by Richard Wellesley

~* Match the following dams with the rivers they built upon.

atet &1 a7 el & e Y v w1 segia fostor R am

Dams/ater River / @idY

1. Jojawa Dam A. Kabini River 1. Semararer A. ifett ey
. Ravishankar Dam B. Tapi River 2. avETa B. A w7t

3. Ukai Dam/ C. Narmada River 3. IFEa c.adgrady

4. Banasura Sagar Dam D. Mahanadi River 4. FVREAERAY D, A A

Which of the following option is correct? // RFafaf@a & ¥ i a1 RFeT wh &2

1. 1-D,2-A,3-C, 4B
2, 1-B,2-A,3-D,4-C
\;./ 1-C, 2-D, 3-B,4-A
4. 1-8,2-C,3-D,4-A

- Also known as Gangrel
Dam
-In Chattisgarh

Also, Highest Gravity Dam

*Largest Dam: Bhakra Nangal (Himachal
‘Pradesh) on Sutlej

“Longest Dam: Hirakud Dam (Odisha) on

Mahanadi (26.75 km)

-Highest Dam: Tehri Dam (Uttarakhand)

on Bhagirathi

-Tilaiya and Maithon Dam: ‘Barakar river in Jharkhand

- Meledatu Dam: Kaveri river in Tamil Nadu

listed in List | with its true meaning mentioned in List Il.
List - 1 List - Il

. Nishkramanam A. It is done at the beginning of the sacred thread ceremony
Chudakaranames=8. The rite of the tonsure ceremony

Vidhyarambam C. To begin with the life of study

4. Upanayanam

wN R

Which of the following option is correct?
. 1-D,2-B,3-A,4C

2. 1-B,2-A,3-D,4-C

3. 1.D,2-A,3-C,4-B

4. 1.D,2-A,3-B,4C

Rites pertaining to the stages of life are called samskaras. Match the Samskaras -

D. Taking the child out of the house so that it may see the sun

ARMA
S



- ~-
As per the information available on November 2023, which of the following
statements is correct about the Tea Industry in India?

*

$Smtcmcm 1: India is the largest producer of tea and second largest black

tea producer globally. ARM A
Statement 2: The Assam Valley and Cachar are the two tea-producing regions

in Assam.

Statement 3: The southern part of India produces about 17% of the country's
total production.

Which of the following option is correct?

1. Onlyland2

2. 1,2and3

¢/ Only2and3
4. Only1

. Top producer of tea: China
-2nd: India

«Coffee bowl of India: Karnataka
"Coffee bowl of World: Brazil
Coffee Varieties in India
-Arabica

* Robusta

- Liberica

In which year was the 1st winter edition of the Olympic Games organised?
il Gat 1 ager fasTelte FEa0r fhe af o fomar s ar?

\{1924

2.1922
3.1920
4.1926

1st Olympics
-Summer: 1896; Greece; Youth: 2010; Singapore

" Winter: 1924; Chamonix (France); Youth: 2012; Innsbruck (Austria)
-1st Commonwealth Games: 1930; Hamilton

- Asian: 1951; India—> Again hosted in 1982

-FIFA World Cup: 1930; Uruguay (won by Uruguay)

}—>2 yrs gap
between them

India: 2011



- - *
Which of the following state has Legislative Council as of December 2023? *
et 2023 aF fAwfaf@a & & fFa Ts & v sRwg &2 ARMA
1. Uttarakhand
/' Uttar Pradesh
3. Punjab
4. Goa
~LC Art 169: Tstablishment of LC

/ / LA \LC only i'l 6 states
y

‘Bicameral Legisture
Can be created or abolished

by Parliament K: Karnataka

A: Andhra Pradesh
With Simple majority: 2/3rd B: Bihar
members present and voting U: Uttar Pradesh

T: Telangana
M: Maharashtra

In 1908, and Prafulla Chaki threw a bomb at a carriage that was
occupied, they beli , by Kingsford, the unp lar judge of farpur.
1908 #, 3R T ATy o e Y O @ ST, o W 3w . Hardinge Bomb Case: 1912

AT AT o AAFHIGR 3 7ol R saraneiier Rawers 3 seom T forar am)

Which of the following option is correct?
rafafea

o w RET A R ‘Ras Bihari Bose and
1. Jaitndranath Bose Sachln Sanga‘

2. Bajguru
Khudiram Bose
4. Bhagat Singh

- 1899: Mitra Mela Csociety) by Savarkar brothers
- 1904: the above merged with Abhinav Bharat Society
. 1905: Shyamji Krishna Verma —>Indian Home Rule Society

The Sociologist (journal) —London



"~ Which of the following statement is correct ab"—“tIMJ 3
AR AT S A FmRRaA I s aa
I. 1t was compiled by kalidasa.
Il. It describes Agnimitra, son of i as ing to the Baimbika kula
and the Baudhayana Srauta Sutra rep| the Baimbil as
I HE! Hehele Fiforgra o fmar Tl
. mwwﬁﬂarﬂarﬁﬁﬁ?aﬂﬂﬁmm#mﬂmmm%aﬂrm
siter g 3T A Feaw & 7 A qeitar ¢
Which of the statements above is/are correct?
1. Onlyl 2. Neither I nor Il
3. Onlyll oth I and Il

Delhi first became the capital of a kingdom under whom?

ool Ta Tgo s 3rthieT v T Y ToTuTet /=12

1. Alauddin Khalji 1. Jem3ede et

2. Chauhans 2. dlg=

3. Ghiyasuddin Balban 3. IATGCGA FeraeT
4. AFT TS

. Tomara Rajputs

- Qutubuddin: Lahore Capital

(Itutmish shifted it to Delhi

Delhi =—;, Daulatabad

J

‘By Muhammad Bin
Tuglag

fo— ~
Which of the following indexes are used to Human D Index?

mmm#m:mm#amﬁmmm
e STaT &2
1. Life Expectancy Index o ahaﬂmnm ‘/

2. Education Index 2. ﬁTﬂTW
3. NNIIndex 3. TEATASNTE qAFH 'By UNDP

Which of the following option is correct ?

« Only1and2

B. Only3 Living
Standards

C. Onlyland3
D. 1,2and3

Education
Health Mean years of schooling
&

e et Expected years of schooling
birth

Gross nationalincome per
capita

HUMAN DEVELOPMENT INDEX




=g ——
. Why is PC Mahalanobis’ name talked about in the context of Five-Year Plans?
f et & weet & et Agre e & a1 Hr aat 7= Hravh

Vl He conceptualised the framework for the Second Five-Year Plan.

2. He was the finance minister during the First Five-Year Plan period.

3. He established the Institute of Economic Growth.

4. He was the chairman of the Planning Commission.

1. 35810 qE{t TaaHTT AYSTer i FRET Y Heheda S|

2. TF VYA YAl Areren wafd & ghe Raash &

3. 3egieY e s FeuTe Y FUTgar A

4. TF AYSTT HTANT & IeaT A

‘Birth Anniversary: 29th June —> Celebrated as Statistics Day
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